

# Recurrences of Stirling and Lah numbers via second kind Bell polynomials\*

Feng Qi<sup>1,2,3,†</sup>, Pierpaolo Natalini<sup>4</sup>, Paolo Emilio Ricci<sup>5</sup>

<sup>1</sup>College of Mathematics and Physics, Inner Mongolia University for Nationalities, Tongliao 028043, Inner Mongolia, China

<sup>2</sup>Institute of Mathematics, Henan Polytechnic University, Jiaozuo 454010, Henan, China

<sup>3</sup>School of Mathematical Sciences, Tianjin Polytechnic University, Tianjin 300387, China

<sup>4</sup>Dipartimento di Matematica e Fisica, Università degli Studi Roma Tre, Largo San Leonardo Murialdo, 1, 00146-Roma, Italy

<sup>5</sup>Sezione di Matematica, International Telematic University UniNettuno, Corso Vittorio Emanuele II, 39, 00186-Roma, Italy

(Received: 1 April 2020. Received in revised form: 10 April 2020. Accepted: 11 April 2020. Published online: 14 April 2020.)

© 2020 the authors. This is an open access article under the CC BY (International 4.0) license (<https://creativecommons.org/licenses/by/4.0/>).

## Abstract

In the paper, by virtue of several explicit formulas for special values and a recurrence of the Bell polynomials of the second kind, the authors derive several recurrences for the Stirling numbers of the first and second kinds, for 1-associate Stirling numbers of the second kind, for the Lah numbers, and for the binomial coefficients.

**Keywords:** recurrence; Bell polynomial of the second kind; Stirling number; 1-associate Stirling number of the second kind; Lah number.

**2020 Mathematics Subject Classification:** 11B65, 11B73, 11B83.

## 1. Motivations

There are two sequences of mathematical notions named in honor of Eric Temple Bell in combinatorial mathematics. The first sequence include the Bell numbers and polynomials, denoted by  $B_n$  and  $B_n(x)$  respectively. The numbers  $B_n$  are also known as the exponential numbers, while the polynomial  $B_n(x)$  are also called the exponential polynomials as well as the Touchard polynomials. They can be generated by

$$e^{e^t-1} = \sum_{n=0}^{\infty} \frac{B_n}{n!} t^n \quad \text{and} \quad e^{x(e^t-1)} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}.$$

These numbers and polynomials can be combinatorially interpreted, see [9, 28, 29], for example. In the paper [24], these numbers and polynomials have been generalized to multivariate exponential polynomials, denoted by  $Q_{m,n}(x_m)$ , by

$$\exp(x_1[\exp(x_2[\exp(\cdots x_{m-1}[\exp(x_m[\exp(t) - 1]) - 1] \cdots) - 1]) - 1]) = \sum_{n=0}^{\infty} Q_{m,n}(x_m) \frac{t^n}{n!}.$$

For some recent work by the first author and his coauthors on the Bell numbers and polynomials, please refer to the papers [4, 10, 14, 16, 18–20, 22, 26] and closely related references therein.

Relative to multivariate exponential polynomials, a new notion, multivariate logarithmic polynomials, denoted by  $L_{m,n}(x_m)$ , was introduced as

$$\ln(1 + x_1 \ln(1 + x_2 \ln(1 + \cdots + x_{m-1} \ln(1 + x_m \ln(1 + t)) \cdots))) = \sum_{n=0}^{\infty} L_{m,n}(x_m) \frac{t^n}{n!}$$

and was investigated in [12, 13].

The study of combinatorial identities constitutes an extremely vast field of research in which, for a long time, it was believed that it was impossible to create a classification, see the monograph [28]. The article [2] can be considered as one of the interesting studies in this area. On the other hand, the (multivariate) Bell numbers and polynomials not only are important in number theory and combinatorics, but also can be applied in other fields [15, 24].

The second sequence of notions named after Eric Temple Bell are mainly related to the Bell polynomials of the second kind. These polynomials are also known as partial (exponential) Bell polynomials, incomplete (exponential) Bell polynomials, and complete (exponential) Bell polynomials. The partial Bell polynomials, or say, the Bell polynomials of the second

\*Dedicated to people facing and fighting COVID-19

†Corresponding author (qifeng618@gmail.com)

kind, can be defined by

$$B_{n,k}(x_1, x_2, \dots, x_{n-k+1}) = \sum_{\substack{1 \leq i \leq n-k+1 \\ \ell_i \in \{0\} \cup \mathbb{N} \\ \sum_{i=1}^{n-k+1} i \ell_i = n \\ \sum_{i=1}^{n-k+1} \ell_i = k}} \frac{n!}{\prod_{i=1}^{n-k+1} \ell_i!} \prod_{i=1}^{n-k+1} \left( \frac{x_i}{i!} \right)^{\ell_i},$$

and can be generated by

$$\frac{1}{k!} \left( \sum_{i=1}^{\infty} x_i \frac{t^i}{i!} \right)^k = \sum_{n=k}^{\infty} B_{n,k}(x_1, x_2, \dots, x_{n-k+1}) \frac{t^n}{n!}, \quad k \geq 0, \quad (1)$$

where  $x_j$  for  $j \geq 1$  are real or complex independent variables. See [1, Definition 11.2] and [3, p. 134, Theorem A]. One of the most important and classical applications of  $B_{n,k}$  is the famous Faà di Bruno formula which states that the  $n$ -th derivative of the composite function  $f(h(t))$  can be computed in terms of  $B_{n,k}(x_1, x_2, \dots, x_{n-k+1})$  by

$$\frac{d^n}{dt^n} f \circ h(t) = \sum_{k=0}^n f^{(k)}(h(t)) B_{n,k}(h'(t), h''(t), \dots, h^{(n-k+1)}(t)), \quad (2)$$

where  $f$  and  $h$  are both  $n$ -time differentiable functions. See [1, Theorem 11.4] and [3, p. 139, Theorem C]. The sum

$$B_n(x_1, x_2, \dots, x_n) = \sum_{k=1}^n B_{n,k}(x_1, x_2, \dots, x_{n-k+1})$$

is called the  $n$ -th complete (exponential) Bell polynomials which can be generated by

$$\exp \left( \sum_{i=1}^{\infty} x_i \frac{t^i}{i!} \right) = \sum_{n=0}^{\infty} B_n(x_1, x_2, \dots, x_n) \frac{t^n}{n!}.$$

The Bell polynomials of the second kind  $B_{n,k}$  satisfy the recurrence relation

$$B_{n,k}(x_1, x_2, \dots, x_{n-k+1}) = \sum_{\ell=1}^{n-k+1} \binom{n-1}{\ell-1} x_{\ell} B_{n-\ell, k-1}(x_1, x_2, \dots, x_{n-\ell-k+2}), \quad (3)$$

where  $B_{0,0} = 1$ ,  $B_{n,0} = 0$  for  $n \geq 1$ , and  $B_{0,k} = 0$  for  $k \geq 1$ . See [8, Proposition 1].

In recent articles [17, 21, 23, 25, 27], explicit formulas for special values of the Bell polynomials of the second kind have been constructed in correspondence to numeric values of the variables. Since the recurrence formula (3) has been highlighted in the paper [9], the combined use of some formulas for special values of the Bell polynomials of the second kind in [25] and the recurrence relation (3) allows us to construct several combinatorial identities.

We can not be sure that some of these identities can be found in the *mare magnum* of literature, but we just want to highlight the method by which these identities have been found, a method which permits an extension to a wide class of relationships.

## 2. An alternative formula and an open problem

In analytic combinatorics [1, 3], the Stirling numbers of the second kind, denoted by  $S(n, k)$  for  $n \geq k \geq 0$ , can be computed by

$$S(n, k) = \frac{1}{k!} \sum_{\ell=0}^k (-1)^{k-\ell} \binom{k}{\ell} \ell^n$$

and can be generated by

$$\frac{(e^x - 1)^k}{k!} = \sum_{n=k}^{\infty} S(n, k) \frac{x^n}{n!}.$$

In [7, p. 303, eq. (1.2)], the  $r$ -associate Stirling numbers of the second kind, denoted by  $S(n, k; r)$ , were defined by

$$\left( e^x - \sum_{i=0}^r \frac{x^i}{i!} \right)^k = \left( \sum_{j=r+1}^{\infty} \frac{x^j}{j!} \right)^k = k! \sum_{n=(r+1)k}^{\infty} S(n, k; r) \frac{x^n}{n!}.$$

In [6, p. 978, eq. (2.3)], the formula

$$B_{n,k}(0, 0, 3, 4, \dots, x_{n-k+1}) = \frac{n!}{(n-k)!} S(n-k, k; 1) \quad (4)$$

was claimed.

We now give an alternative formula for  $B_{n,k}(0, 0, 3, 4, \dots, x_{n-k+1})$  in term of the Stirling numbers of the second kind  $S(n, k)$ .

**Theorem 2.1.** *For  $n \geq k + 2 \geq 2$ , the Bell polynomials of the second kind satisfy*

$$B_{n,k}(0, 0, 3, 4, \dots, x_{n-k+1}) = n! \sum_{\ell=0}^k \frac{(-1)^\ell}{\ell!} \frac{S(n-k-\ell, k-\ell)}{(n-k-\ell)!}. \quad (5)$$

*Proof.* In [5, Theorem 1], the formula

$$B_{n,k}(0, 1, \dots, 1) = \sum_{\ell=0}^k (-1)^\ell \binom{n}{\ell} S(n-\ell, k-\ell) \quad (6)$$

was established. See also [25, Section 1.8].

Applying  $x_1 = x_2 = 0$  and  $x_k = k$  for  $k \geq 3$  to the formula (1) yields

$$\sum_{n=k+2}^{\infty} B_{n,k}(0, 0, 3, 4, \dots, x_{n-k+1}) \frac{t^n}{n!} = \frac{1}{k!} \left[ \sum_{i=3}^{\infty} \frac{t^i}{(i-1)!} \right]^k = \frac{1}{k!} [(e^t - t - 1)t]^k.$$

This means that, for  $n \geq k + 2 \geq 2$ , by the Leibniz theorem for differentiation of a product, by the Faà di Bruno formula (2), and by (6), we have

$$\begin{aligned} B_{n,k}(0, 0, 3, 4, \dots, x_{n-k+1}) &= \frac{1}{k!} \lim_{t \rightarrow 0} \frac{d^n}{dt^n} [(e^t - t - 1)t]^k \\ &= \frac{1}{k!} \lim_{t \rightarrow 0} \sum_{\ell=0}^n \binom{n}{\ell} [(e^t - t - 1)^k]^{(\ell)} (t^k)^{(n-\ell)} \\ &= \frac{1}{k!} \lim_{t \rightarrow 0} \sum_{\ell=0}^n \binom{n}{\ell} [(e^t - t - 1)^k]^{(\ell)} \langle k \rangle_{n-\ell} t^{k-n+\ell} \\ &= \frac{1}{k!} \binom{n}{n-k} \langle k \rangle_k \lim_{t \rightarrow 0} [(e^t - t - 1)^k]^{(n-k)} \\ &= \binom{n}{n-k} \lim_{t \rightarrow 0} \sum_{\ell=0}^{n-k} \binom{n-k}{\ell} (u^k)^{(\ell)} B_{n-k,\ell}(e^t - 1, e^t, \dots, e^t) \\ &= \binom{n}{n-k} \lim_{t \rightarrow 0} \sum_{\ell=0}^{n-k} \langle k \rangle_\ell u^{k-\ell} B_{n-k,\ell}(e^t - 1, e^t, \dots, e^t) \\ &= \binom{n}{n-k} \lim_{t \rightarrow 0} \sum_{\ell=0}^{n-k} \langle k \rangle_\ell (e^t - t - 1)^{k-\ell} B_{n-k,\ell}(e^t - 1, e^t, \dots, e^t) \\ &= \binom{n}{n-k} \langle k \rangle_k \lim_{t \rightarrow 0} B_{n-k,k}(e^t - 1, e^t, \dots, e^t) \\ &= \binom{n}{n-k} k! B_{n-k,k}(0, 1, \dots, 1) \\ &= \frac{n!}{(n-k)!} \sum_{\ell=0}^k (-1)^\ell \binom{n-k}{\ell} S(n-k-\ell, k-\ell), \end{aligned}$$

where  $u = u(t) = e^t - t - 1$ . The formula (5) is thus proved. The proof of Theorem 2.1 is complete.  $\square$

**Remark 2.1.** In [6, Section 2, eq. (2.2)], the closed formula

$$B_{n,k}(0, 2, 3, \dots, n-k+1) = \frac{n!}{(n-k)!} S(n-k, k) \quad (7)$$

was listed. Basing on the formulas (5) and (7), we pose an open problem: what is the general and explicit formula of

$$B_{n,k}(\underbrace{0, \dots, 0}_{s-1}, s, s+1, \dots, n-k+1)$$

for  $n \geq k + s - 1 \geq s - 1 \geq 3$  in terms of the Stirling numbers of the second kind  $S(n, k)$ ?

### 3. Recurrences of Stirling and Lah numbers

In analytic combinatorics [1, 3], the Stirling numbers of the first kind, denoted by  $s(n, k)$ , can be computed by

$$s(n, k) = (-1)^{n+k} (n-1)! \sum_{\ell_1=1}^{n-1} \frac{1}{\ell_1} \sum_{\ell_2=1}^{\ell_1-1} \frac{1}{\ell_2} \cdots \sum_{\ell_{k-2}=1}^{\ell_{k-3}-1} \frac{1}{\ell_{k-2}} \sum_{\ell_{k-1}=1}^{\ell_{k-2}-1} \frac{1}{\ell_{k-1}}$$

for  $n \geq k \geq 1$ , see [11], and can be generated by

$$\frac{[\ln(1+x)]^k}{k!} = \sum_{n=k}^{\infty} s(n, k) \frac{x^n}{n!}$$

for  $n \geq k \geq 0$ . The Lah numbers  $L(n, k)$  for  $n \geq k \geq 0$  can be computed by

$$L(n, k) = \binom{n-1}{k-1} \frac{n!}{k!}$$

and can also be generated [10] by

$$(e^{\pm 1/x})^{(n)} = (-1)^n e^{\pm 1/x} \sum_{k=1}^n (\pm 1)^k L(n, k) \frac{1}{x^{n+k}}.$$

Now we start out to derive several recurrences of the Stirling numbers of the first and second kinds  $s(n, k)$  and  $S(n, k)$ , of 1-associate Stirling numbers of the second kind  $S(n, k; 1)$ , and of the Lah numbers  $L(n, k)$ .

**Theorem 3.1.** *Let  $n \geq k \geq 1$ . Then*

1. *the Stirling numbers of the first kind  $s(n, k)$  satisfy*

$$s(n, k) = (n-1)! \sum_{\ell=0}^{n-k} \frac{(-1)^\ell}{(n-\ell-1)!} s(n-\ell-1, k-1); \quad (8)$$

2. *the Stirling numbers of the second kind  $S(n, k)$  satisfy*

$$S(n, k) = \sum_{\ell=0}^{n-k} \binom{n-1}{\ell} S(n-\ell-1, k-1) \quad (9)$$

and

$$S(n, k) = \frac{1}{n+k} \sum_{\ell=1}^n \binom{n}{\ell} (\ell+1) S(n-\ell, k-1); \quad (10)$$

3. *the 1-associate Stirling numbers of the second kind  $S(n, k; 1)$  satisfy*

$$S(n, k; 1) = \frac{1}{n+k} \sum_{\ell=1}^{n+1} \ell \binom{n}{\ell-1} S(n-\ell+1, k-1; 1); \quad (11)$$

4. *the Lah numbers  $L(n, k)$  satisfy*

$$L(n, k) = \sum_{\ell=1}^{n-k+1} \ell! \binom{n-1}{\ell-1} L(n-\ell, k-1); \quad (12)$$

5. *for  $n \geq k \geq 2$ ,*

$$\sum_{\ell=0}^n \binom{n}{\ell} \frac{\ell+1}{(k-1)^\ell} = \frac{(n+k)k^{n-1}}{(k-1)^n}. \quad (13)$$

*Proof.* In [3, p. 135], see also [25, Section 1.2], we find

$$B_{n,k}(0!, 1!, 2!, \dots, (n-k)!) = (-1)^{n-k} s(n, k).$$

This means that

$$B_{n-\ell-1, k-1}(0!, 1!, 2!, \dots, (n-\ell-k)!) = (-1)^{n-\ell-k} s(n-\ell-1, k-1).$$

Further utilizing the recurrence (3), we arrive at

$$(-1)^{n-k} s(n, k) = \sum_{\ell=0}^{n-k} \binom{n-1}{\ell} (-1)^{n-\ell-k} s(n-\ell-1, k-1) \ell!$$

which is equivalent to (8).

In [3, p. 135], it is given that

$$B_{n,k}(1, 1, \dots, 1) = S(n, k).$$

See also [25, Section 1.1]. By applying the recurrence (3), we immediately find the recurrence (9).

In [6] and [25, Section 1.12], we find

$$B_{n,k}(0, 2, 3, \dots, n - k + 1) = \frac{n!}{(n - k)!} S(n - k, k).$$

This means that

$$B_{n-\ell-1,k-1}(0, 2, 3, \dots, n - \ell - k + 1) = \frac{(n - \ell - 1)!}{(n - \ell - k)!} S(n - \ell - k, k - 1).$$

Combining this with the recurrence (3), we can reveal that

$$\frac{n!}{(n - k)!} S(n - k, k) = \sum_{\ell=1}^{n-k} \binom{n-1}{\ell} \frac{(n - \ell - 1)!}{(n - \ell - k)!} S(n - \ell - k, k - 1)(\ell + 1)$$

which can be further rearranged as

$$\frac{n!}{(n - k)!} S(n - k, k) = \sum_{\ell=1}^{n-k} \frac{(n - 1)!(\ell + 1)}{\ell!(n - k - \ell)!} S(n - \ell - k, k - 1).$$

Therefore, we acquire

$$S(n - k, k) = \sum_{\ell=1}^{n-k} \binom{n-k}{\ell} \frac{\ell + 1}{n} S(n - \ell - k, k - 1).$$

The recurrence (10) is thus proved.

From (4), it follows that

$$B_{n-\ell,k-1}(0, 0, 3, 4, \dots, n - \ell - k + 2) = \frac{(n - \ell)!}{(n - \ell - k + 1)!} S(n - \ell - k + 1, k - 1; 1).$$

Substituting this into the recurrence (3), we obtain

$$\frac{n!}{(n - k)!} S(n - k, k; 1) = \sum_{\ell=1}^{n-k+1} \binom{n-1}{\ell-1} \ell \frac{(n - \ell)!}{(n - \ell - k + 1)!} S(n - \ell - k + 1, k - 1; 1)$$

which can be reformulated as (11).

In [25, Section 1.3], we find

$$B_{n,k}(1!, 2!, 3!, \dots, (n - k + 1)!) = L(n, k).$$

This means that

$$B_{n-\ell-1,k-1}(1!, 2!, 3!, \dots, (n - k - \ell + 1)!) = L(n - \ell - 1, k - 1).$$

Substituting this into the recurrence (3), after simplification, we obtain the recurrence (12).

In [1, p. 451], [3, p. 135], and [25, Section 1.10], we find

$$B_{n,k}(1, 2, 3, \dots, n - k + 1) = \binom{n}{k} k^{n-k}, \quad n \geq k \geq 1.$$

This means that

$$B_{n-\ell-1,k-1}(1, 2, 3, \dots, n - \ell - k + 1) = \binom{n - \ell - 1}{k - 1} (k - 1)^{n-k-\ell}.$$

Substituting this into the recurrence (3), we obtain

$$\binom{n}{k} k^{n-k} = \sum_{\ell=0}^{n-k} (\ell + 1) \binom{n-1}{\ell} \binom{n - \ell - 1}{k - 1} (k - 1)^{n-k-\ell}$$

which can be reformulated as (13). The proof of Theorem 3.1 is complete.  $\square$

**Remark 3.1.** The recurrence (12) can be reformulated as a combinatorial identity

$$\sum_{\ell=0}^{n-k} (\ell + 1) \binom{n - \ell - 2}{k - 2} = \binom{n}{k}.$$

## 4. Conclusion

In this paper, by virtue of several explicit formulas for special values and a recurrence of the Bell polynomials of the second kind  $B_{n,k}$ , we derived several recurrences for the Stirling numbers of the first kind  $s(n, k)$ , for the Stirling numbers of the second kind  $S(n, k)$ , for 1-associate Stirling numbers of the second kind  $S(n, k; 1)$ , for the Lah numbers  $L(n, k)$ , and for binomial coefficients  $\binom{n}{k}$ . The techniques used in this paper can be further applied to every special values for the Bell polynomials of the second kind  $B_{n,k}$ . However, sometimes the derived results are quite complicate to evaluate.

## Acknowledgment

The authors are thankful to anonymous referees for their careful corrections, helpful suggestions, and valuable comments on the original version of this paper.

## References

- [1] C. A. Charalambides, *Enumerative Combinatorics*, Chapman & Hall/CRC, Boca Raton, 2002.
- [2] W. Chu, Inversion techniques and combinatorial identities: balanced hypergeometric series, *Rocky Mountain J. Math.* **32** (2002) 561–587.
- [3] L. Comtet, *Advanced Combinatorics: The Art of Finite and Infinite Expansions*, D. Reidel Publishing Co., Dordrecht, 1974.
- [4] B.-N. Guo, F. Qi, An explicit formula for Bell numbers in terms of Stirling numbers and hypergeometric functions, *Glob. J. Math. Anal.* **2** (2014) 243–248.
- [5] B.-N. Guo, F. Qi, An explicit formula for Bernoulli numbers in terms of Stirling numbers of the second kind, *J. Anal. Number Theory* **3** (2015) 27–30.
- [6] F. T. Howard, A special class of Bell polynomials, *Math. Comp.* **35** (1980) 977–989.
- [7] F. T. Howard, Associated Stirling numbers, *Fibonacci Quart.* **18** (1980) 303–315.
- [8] P. Natalini, P. E. Ricci, Higher order Bell polynomials and the relevant integer sequences, *Appl. Anal. Discrete Math.* **11** (2017) 327–339.
- [9] P. Natalini, P. E. Ricci, Remarks on Bell and higher order Bell polynomials and numbers, *Cogent Math.* **3** (2016) Art# 1220670.
- [10] F. Qi, An explicit formula for the Bell numbers in terms of the Lah and Stirling numbers, *Mediterr. J. Math.* **13** (2016) 2795–2800.
- [11] F. Qi, Explicit formulas for computing Bernoulli numbers of the second kind and Stirling numbers of the first kind, *Filomat* **28** (2014) 319–327.
- [12] F. Qi, Integral representations for multivariate logarithmic polynomials, *J. Comput. Appl. Math.* **336** (2018) 54–62.
- [13] F. Qi, On multivariate logarithmic polynomials and their properties, *Indag. Math.* **29** (2018) 1179–1192.
- [14] F. Qi, Simplifying coefficients in differential equations related to generating functions of reverse Bessel and partially degenerate Bell polynomials, *Bol. Soc. Paran. Mat.* **39** (2021), In press.
- [15] F. Qi, Some inequalities and an application of exponential polynomials, *Math. Inequal. Appl.* **23** (2020) 123–135.
- [16] F. Qi, Some inequalities for the Bell numbers, *Proc. Indian Acad. Sci. Math. Sci.* **127** (2017) 551–564.
- [17] F. Qi, B.-N. Guo, Explicit formulas for special values of the Bell polynomials of the second kind and for the Euler numbers and polynomials, *Mediterr. J. Math.* **14** (2017) Art# 140.
- [18] F. Qi, B.-N. Guo, Relations among Bell polynomials, central factorial numbers, and central Bell polynomials, *Math. Sci. Appl. E-Notes* **7** (2019) 191–194.
- [19] F. Qi, B.-N. Guo, Viewing some ordinary differential equations from the angle of derivative polynomials, *Iran. J. Math. Sci. Inform.* **15** (2020), In press.
- [20] F. Qi, D. Lim, B.-N. Guo, Explicit formulas and identities for the Bell polynomials and a sequence of polynomials applied to differential equations, *Rev. R. Acad. Cienc. Exactas Fis. Nat. Ser. A Mat. RACSAM* **113** (2019) 1–9.
- [21] F. Qi, D. Lim, Y.-H. Yao, Notes on two kinds of special values for the Bell polynomials of the second kind, *Miskolc Math. Notes* **20** (2019) 465–474.
- [22] F. Qi, D.-W. Niu, B.-N. Guo, Some identities for a sequence of unnamed polynomials connected with the Bell polynomials, *Rev. R. Acad. Cienc. Exactas Fis. Nat. Ser. A Math. RACSAM* **113** (2019) 557–567.
- [23] F. Qi, D.-W. Niu, D. Lim, B.-N. Guo, Closed formulas and identities for the Bell polynomials and falling factorials, *Contrib. Discrete Math.* **14** (2020), In press.
- [24] F. Qi, D.-W. Niu, D. Lim, B.-N. Guo, Some properties and an application of multivariate exponential polynomials, *Math. Methods Appl. Sci.* **43** (2020) 2967–2983.
- [25] F. Qi, D.-W. Niu, D. Lim, Y.-H. Yao, Special values of the Bell polynomials of the second kind for some sequences and functions, *HAL Preprint* (2018).
- [26] F. Qi, X.-T. Shi, F.-F. Liu, Expansions of the exponential and the logarithm of power series and applications, *Arab. J. Math.* **6** (2017) 95–108.
- [27] F. Qi, X.-T. Shi, F.-F. Liu, D. V. Kruchinin, Several formulas for special values of the Bell polynomials of the second kind and applications, *J. Appl. Anal. Comput.* **7** (2017) 857–871.
- [28] J. Riordan, *An Introduction to Combinatorial Analysis*, J. Wiley & Sons Ltd., Chichester, 1958.
- [29] J. Riordan, *Combinatorial Identities*, J. Wiley & Sons Ltd., Chichester, 1968.